RC 200, black - CKD 2024 <2024><CO><F5141X1>

SIDE TRIM
69330
Pos Part Number Description Additional Text Quantity

1 94508042033CAA OUTER FAIRING RH JY181349 BLCK with decal 1.00
2 94508041033CAA OUTER FAIRING LH JY181348 BLCK with decal 1.00
3 94508042000CAB INNER FAIRING RH JY181347 BLK with decal 1.00
4 94508041000CAB INNER FAIRING LH JY181346 BLK with decal 1.00
5 94508027010 Side fairing, inner, top, righ 1.00
6 94508026010 Side fairing, inner, top, left 1.00
7 94508020000 BELLY PAN MIDDLE 1.00
8 94508043010 BRACKET ASSY BELLY PAN MIDDLE 1.00




9 93808027000 SLEEVE 4.00
10 90508006003 AH SCREW M6X1X20 10.00
11 93808026100 GROMMET BELLY PAN 4.00
12 J900000609000 BOLT-FLANGED-SMALL 1.00
13 J900000604502 BOLT-FLANGED-SMALL 1.00
14 J031050161 Panhead screw with shoulder 6.00
15 J900000601200 Oval head screw M6x12 6.00
16 90103097000 clip nut 10.00
17 J910000600600 CLIP NUT M6 1.00
18 90108050001 CLIP NUT M5 2.00
20 94508048000 Bracket, side fairing, right 1.00
21 93011068010 Rubber grommet ignition lock ¢ 2.00
22 J125070004 washer plain-id6.5xod16xthk1xb 6.00
23 93014017000 Rubber bushing 4.00
24 J125100009 Washer M10 4.00
25 94508047000 Bracket, side fairing, left 1.00
27 94508041050 COVER CATALYST 1.00
28 27005211011 Absorbing element silicone IN 1.00
29 J900000501403 Roundhead screw M5x14 2.00
31 90505090050 WASHER ASBESTOS 2.00
32 94508018001CA Tail section 1.00
33 94508018050 Seat lock, cover 1.00
34 94508018010C1H Tail section right 1.00
35 94508018020C1H Tail section left 1.00
36 94508018040 Frame cover right 1.00
37 94508018030 Frame cover left 1.00
38 94508018070 FOAM RH 1.00
39 94508018060 FOAM LH 1.00
40 90108050001 CLIP NUT M5 2.00
41 95835016000 Rubber grommet only for heavy duty model 2.00
42 J800000600700 COLLAR FAIRING - K10 1.00
43 J031050123 Lens head screw M5X12 4.00
45 J900000601403 BOLT SOCKET STEP M6X1 1.00
46 93014018100 Collar head lamp holder MTG 2.00
47 J650001701300 GROMMET 2.00
48 93006039000 Flat-head screw M6 2.00
57 J900000602004 Set screw w.hexagon socket M6x 8.00
58 95808041020 Special nut 2.00




